Al & A & M A
20198 = £ 3 3 Lets
Z: 500 X3
2 510 INEE3S
&: 511 FNPEIES el E )
.8 Ol &t o4 o= o Hms2
= 8,875,808 9,435,657 559,849
500 2 X2 8,422,308 8,982, 157 559,849
510 2n2X2S 5,614,024 6,045,682 A431,658
511 202 X3S 5,614,024 6,045,682 A431,658
511-01 R D2XZ 5,149,043 5,581,229 £432,186
[ e ] 5,149,043 5,581,229 £432, 186
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OZAHSDZOBIH0 2 85,019,000 85,019 84,491 528
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01 JIEtA =201 A 135,000 450,000 315,000
OMASEEXN = AN (HAHAZ)
45,000,000& =+ 3AllCH 135,000 450,000 315,000
MBI =X B& 4,207,094 ,485,975 A 278,881
= 2,330,015 ,538,681 A 208,666
< 506,209 543,756 A37,547
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= 1,167,232 1,275,898 A 108,666
=) 333,495 364,542 A 31,047
Al 166,747 182,271 N 15,524
OBAR ==(M< HA) 2,600,0008 * 29 75,400 88,400 A 13,000
< 37,700 44,200 A 6,500
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NESAHR W= 30,310 36,650 A6,340
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PR 904,0008 * 19 904 1,274 A370
7| 452 637 A 185
Al 452 637 A 185
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< 9,000 9,000 0
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= 9,000 9,000 0
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OASE oA 126,548 139, 148 A 12,600
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< 9,000 9,000 0
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- HE SOl 3,134,9002 * 0.6 » 23] 3,762 3,909 147
P =P =]
3,134,9009 = 0.85 = 1/30 = 7L 622 646 A24
- WEH 0 1,560 A 1,560




2N
X ZH -
L= B
el

Alel =X ot
HY2HZH (M=)
el 2l

SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
ONJASAHHE XA 8F3724E o2y 82,786 95,738 A 12,952
-= 2,662,200& « 2H 128 63,893 66,373 A 2,480
-&2=Y 2,662,200 * 0.5  2H * 23] 5,325 5,532 A 207
-JIE=g 20,0004 = 28 » 123 480 1,920 A 1,440
— N RRAY
10,5093 = 10AI2t = 28 « 123 2,523 7,938 A5,415
-G Z S0t
2,662,000 * 0.6 » 28 » 23 6,389 6,638 A 249
RGN
2,662,000% * 0.85 = 1/30 * 2% » 7¢ 1,056 1,097 A4
- wEHl 0 3,120 A 3,120
O3 SALE HJ E2F8aaE Al 70,029 82,888 A 12,859
-= 2,228,100& * 2H » 123 53,475 55,550 A2,075
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-&32=+¥ 1,850,200& * 0.5 » 1&H * 23] 1,851 1,886 A 35
-IIEE 40,000& * 1H * 123 480 1,440 A 960
—ANZ2t 2R+
8,528% * 10AI2t » 18 » 123 1,024 3,129 A 2,105
- EZF0tl
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SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
ONS=EAN FCUO0E ol
130,000& = 29 = 128 3,120 4,320 A 1,200
OXESAH ZOUIOIH JIE=+Y 0 1,920 21,920
NEES (A=) 314,649 314,132 517
BEXN= 314,649 314,132 517
=&Hl Etet=s 314,649 314,132 517
802 gtet=JIEt 314,649 314,132 517
02 Al - EHIEXZtEte= 219,076 218,559 517
OMdi=5I1= OIX Bte 460 0 460
OMEISX & SALR=2 Ol X BHe 57 0 57




